-

ANSWERS

L) R uatements | oand 2 are false

. O and Senvaces tay, burden can be shifted
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A \wverteon (A) 1s true but Reason (R) s false
s o0 s Awertion (A) and Reason (R) are true and Reason (R) i
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N (& ¢ 7SO ¢rore explana.
9 () Both statements | and 2 are true ‘lqnw
1. (a) Statement 1is true and statement 2 is false

11. Investments by large Multinational Corporations (MNGs) in India w;
foreign exchange, leading to an increase in the supply of foreign :Vlll Cnsure o
result into excess supply of foreign currency in the economy at the urren?y. otey in
rate. As a result, a new equilibrium rate of foreign exchange wij bl;rgvalling fore;
lower than the prevailing foreign exchange rate, leading to aPPreciatioetermined wg}? Ex¢ o ]

. : : . . . n o Ich,. ‘% §

12. (A) The price of US § has risen considerably in India. This means, the fdomestic cﬁw W}

of US dollar has fallen. The deliberate rising of the price of’foreiVaIUe Y Dee -n i
domestic currency by the government is called “devaluation” of dogn Cu.rren 'n’ zn temy §
Indian exports become cheaper and as a result their demand increaseg anrgestlc Currey, g o :
pours in. More exports mean more employment generation, which inI‘:lore Orej .
income and standard of living of the masses, who will thus become b UIN Wil] ine
Or etter off,
(B) Components (or items of transactions) of current account:
(a) Visible items:
¢ Exports and imports of goods such as tea, jute etc.
(b) Invisible items:
 Exports and i.mports of services such as s_hipping, insurance, banking etc,
« Transfer receipts and payments such as gifts, donations etc. :
¢+ Income receipts and payments such as investment income and wages and salaries e, |
13. The process of credit creation is based on the following assumptions:
(a) There is single banking system in the economy.

(b) All transactions are routed through banks.
Working of the credit creation process:
Total credit creation = Money multiplier(m) X Initial deposits

_ 1 " -
= 1RR x Initial deposits

Rounds \ Deposits l




ep ¥ 1,000 as reserves and give loans of T 9000 which ultimately
1s. Out of these ¥ 0000 banks keep 10% i.¢. 2 900 crore as reserves

anks ke
0%, banks ke
R 1P as dl-'m\l

L ¢ 8100, In this way in every round 80% of the loans are converted into
* h by . R
)

Joan® W ¢ 100000, The rule is:

(
B ‘ [
Lt jon = New deposits (l.vRR)

1 —
- '”‘”””(T(T';{) = 71,00,000

| structure 'ol’ India, there are two components of GST, i.e, Central GST
wral S

¢ ﬂ‘(l( ¢ e g(,s,,l.)
LI -;(‘(,!51 (cLs 1) Y
\ "‘\!\l\ nd St L‘ «(ates levy GST across the value chain simultaneously.
(8 o Sl D J i
S poth centtt ‘m: i collects CGST and states levy and collect the SGST on all transactions
! , Jevies ant
Cemtle ™™ te. . ) —
' \\\uhin a state edit of CGST would be available for discharging the CGST liability on
e ore
Cjpput 14X © T oofs
 qurput at cach SLES - llowed for paying the SGST on
(e outl he credit of SGST paid on inputs would be allowed for paying
Sy, the
, 5ill1llil'lv\‘
output: Or

udget can be used to bring in economic stabi¥ity. Economic stability.refers
1 of fluctuations in prices (i.e., control of 1nt.’lat10nary.and deﬂa.tlonary
o the © he economy. Appropriate taxation, subsidies and public expen.dlture pohcles'may
rends) i B2 urpose. When there is inflation, government can reduce its own expenditure

0! th(l}sspT riduce aggregate demand and inflationary pressure thereby. When there
and Ihro.ugh the government can increase its own expenditure. It can also reduce tax and
" dCﬂﬁ:i);,es to encourage spending by the people, thus increasing aggregate demand and
give U

ducing deflationary pressure. . .
N ion suggests that aggregate demand is less than aggregate supply. Following two fiscal
O res may be taken to control it: .

meds }ease in taxes: To curb the situation, the government may decrease the taxes. This may
| -Diiease the purchasing power in the hands of the general public. This may increase the
f:loregate demand in the economy to bring it equal to the aggregate supply.
i;:rease in government expenditure: The government may also increase its expenditure. This
nav increase the purchasing power in the hands of the general public which in turn may
icrease the aggregate demand in the economy to bring it equal to the aggregate supply.
It, (A) GDPy;p by Income Method = (i) + (i) + (xiv) + (viii) + (ui) — (ix)

= 120 + 140 + 50 + 40 + 45 -10
= ¥ 385 crores

Good are classified into final goods and intermediate goods on the basis of ‘the end-use’. If

goods are purchased for consumption or investment, they would be classified as final goods. For
example,

[ b
The govanment '
oo the minimisatio

e USCd

o situat
¢ The sity

(a

(b

E:l

(i) Milk purchased by a household is for consumption so it is a final good.
(ii) Machine purchased for use in a factory is for investment purpose so it is a final good.

.W'hcn agoodis purchased for resale or for using it completely in the production during the year,
s classified as intermediate good, such as raw material purchased for producing a good.

Or
(c
o NNPy = ) 4 (@) + G+ ) + 00) + () — (i)
=250 + 600 + 80 + 30 + 40 + 10 - (-10)
=¥ 1,020 thousand crores
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17. (@) Directtaxesare the t
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he liability of
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(b) In case of direct tax
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the tax he
to the government lies ¢
le whereas indirect taxes are shiftable.

are income taX, corporate tax, wealth tax whereag .
xcise dutys value added tax, custom duties etal X
alled “Goods and Services Tax” (GST €. Whi
); lntr()d are

u

other person (buyer).
(¢) Direct taxes arc not shiftab
(d) Main examples of direct taxes
are sales tax, €

of indirect taxes
n a single tax €

now clubbed together i
from st July 2017.

18. (c) 41

19. (d) Inflationary pressure

20. (c) 1970

21. (c) C - (iii)

22. (a) Both Assertion (A) and Reason (R) are trué and Reason (R) is the correct explana;:
Assertion (A) Planatioy ¢

23. (b) 57

24. (d) only (iii)

25. (¢) Both statements 1 and 2 are true

26. (d) All of these

27. (d) Both statements 1 and 2 are false

28. It is well-known fact that under the colonial regime the real m

infrastructure was to meet various colonial interests.
Infrastructure like railways, water transport, ports, posts and telegraphs etc. did develop but
: ut only

to serve various colonial interests rather than to provide basic amenities to the peopl ;

Roads that were built served primarily the purpose of mobilising the army withp 0Ip : iy
hand anq transferring raw materials from the countryside to the nearest railw ! nd'la o
port. This was to send these to the far away country—England or other foreigiydssgttilr?:ti?);sthe

The introduction of railways by the British in 1850 also contributed to ‘economic drain’ during

otive behind the development of

the colonial period.
Th . . .
us, under the British, the economic policies of the government were more con

production and protection of British ic i
: te economic interests rather than wi lo
the economic condition of the colonised country and its people with the e o=

cerned with the

29. (A) Some of the positive contributi
t ce g
. Introductign of rail ontributions made by the British in India were:
o Eatlhways enabled the people to undertake long-distance t
of the geographical and cult i
e Briti ural barriers.

esrtl:g:]i :;;relrs :}l 50 de\'/el.op ed water transport and introduced the air transport
e In 1837; the%ri?i;lal ;l?‘srr(l)lcrll es in 1932 and thereby inaugurated the aviation sect

I Irldiauce?1 Fhe modern postal system. The expensive electricteleg
Thus, the lia, which was useful for the purpose of maintainin Jaw and 079

) postal services served a useful public purpose g

ravel. This facilitated

or i
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he l“”'t( duce [ndmtothc status of
yIe . .

[ pirst: industrics 1n Britain,

1N - s o

10 convert Indiaintoa big market for the finished

. the maximum advantage accruing to their
rc

trialisation of India was:
ameree :rofi
SMmereexporter of important raw materials for the upcoming

products of those industries, in order

0Nt
home country, Britain.

v u
L.I],\ . 23 »
o ¢ o green revolution under agreement was ‘PL_48(y as mentioned in the given figure
Jfore e i Cr v (Specis .
)’ lians relied on food crops (specially wheat) supplies from the US a
Inc wsure was considered as a folly.

et gainst rupee
paters (his me
7 evolution which Cnmc.wnth the use of HYV seeds, food production in India not only
o “'”l (imes, infact India become self-sufficient in food production.

{5(‘\& 8 ‘
pe Contre! Pollution Control Board (CPCB) was set up by the government in 1974, to
[he

' oss (WO major environmental concerns in India — water and air pollution.

“_‘h.i_r s followed by the establishment of the state level boards to address the environmental

lmi\‘\r‘r;s at the state level.

cone” ards provide technical assistance to the respective governments in promoting cleanliness
- qms and wells by prevention, control and reduction of water pollution, and also

; ?I;:‘mvc the quality of air and prevent air pollution in the country.

u_* ”\] !arry out and sponsor investigation and research about problems of water and air pollution.

. i{hjss awareness programmes are also organised by them with the help of media.

A Jese boards collect, collate and disseminate technical and statistical data w.r.t water pollution.

(any four)

'l.hC\‘C bo

, T
Or

ves. certainly indiscriminate fe%lin.g of trees has led to destruction of forest cover. Trees are

jatural consumers of carbon dioxide — one of the greenhouse gases whose built-up in the

;Hmosphere contributes to global warming. Destruction of trees pumps into the atmosphere

-ven more carbon dioxide, alongwith methane, another major greenhouse gas. Once forests

have been cut down, essential nutrients are washed out of the soil all-together. This leads to

ssoil erosion” which makes the land unusable and can, in turn, lead to disastrous flooding
since there is no soil to soak up the rain.

Infant Mortality Rate is very high in Pakistan (66) as compared to India (38). This is because
of large sized families and leading to more undernourished children and the poor health
of the mothers.

) Indeed Pakistan is more urbanised as 39% of the people living in urban areas in Pakistan in

contrast to 33% living in urban areas in India.

Yes. indeed we strongly agree to have a moral obligation to hand over the planet earth in
god order to the future generation.
Some suggestive measures to achieve the above obligation are:

2} Human population be limited to a level within the carrying capacity of the environment.
D) Resource depletion should be minimal and its utilisation be optimal.

) Technological progress in the economy should be input-efficient and not input consuming.
’\fz’) Kenewable resources should be extracted on a sustainable basis.

) R‘dt.c of depletion of non-renewable resources should be lesser than the rate of creation, i.e.,
n illltlfrf l‘lsag.e Shou'ld be prudently made.

" I‘PGlfllenmes which crop up from pollution §hould be speedily checked upon.

0 bs&tged(ifij cleap fuel and gobar gas be used in rl%ral areas. ' '

Would NG in urban areas as a ‘green fue.l’ for vehicles especially in public transport system,

80 a long way to check air pollution. (any five)
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(B)

34. (a)

(®)
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-~ has bee ecline in the nu
During the post-reform period, there has been a d mber of Wor

iobs are stly in the i
in the formal sector, As the new jobs are found mostly in the informa] sector g timpl%
: , _ e by
of jobs is mostly casual. q My
. ‘oree in the 1 ecades (1972- U
In India, the distribution of workforce in the last four (1972-201; Shoyg T

Lo formal emplo
have moved from regular salaried employment (for ployment) tq Casyg) hg

The process of movement from rcgula'r Salflfied employment to casual y, e wo\:ag.e szi::
‘casualisation of workforce.” The quality of employm?nt has been deterioratin Sca!le‘
Since the late 1970's many developing countries like India have start.ed payin a
enterprises and workers in the informal sector, as employment in the formg) Swentf()ntg
growing, , s Ny,
But workers and enterprises in the informal sector do not get regular Income

have any protection from the government. Lately owing to the effor.ts Of the Inte d“ngt
Labour Organisation (ILO), the Indian governmen't has tal'(en the Initiatjye to nati(’nal
the informal sector enterprises and to provide social security measureg to the WOd
the informal sector. Thery in

Land degradation is the reduction or loss of the biological or economic roductjy;
complexity of rain-fed cropland, irrigated cropland, or range, pf:ls.ture, forest o, Won
resulting from natural processes, land uses or other human activities. Lapqg degra dat
due to the activities of human hands which loses all the fertility and quality of 5y on
Some of the factors responsible for land degradation are: ;

(?) Loss of vegetation due to deforestation

(i1) Unsustainable fuel wood and fodder extraction

(iir) Shifting agriculture

(v) Encroachment into forest lands

(v) Forest fires and overgrazing

(vi) Non-adoption of adequate soil conservation measures (any fou)
The two principal causes behind environmental degradation are: ‘

(¢) Population rise: Rising population is one of the major causes for degradation of
environment as it adds to the burden on natural resources, leading to environmeny
CTisis.

(if) Consumption levels: It has been observed that the developing and developed nations have
witnessed affluent consumption levels in the past, brining disequilibrium in the

demand and supply of the natural resources, pushing the world to the threshold of
the environmental crisis.

(or any other valid poin)
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